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- REVIEW#1

Qu |t1| )ryWORK

w

fce
~—

ANSWER

Fhe mmltmum pomt on the grapl
is the rnlmmum pomt on the graj

of «‘he, equation y = f{x) is (~1,-3). What
.ol the equation y = f(x) + 5?7

2y ,(—', 8
) @,-3)
| 0 (—6,'—3)’

Whlch tramsformatlon of y=fx)n vesthe graph 7 units to the left and 3
units dowm7 '

.A C)y f(}d+7) 3
/‘2{ y=_f(x‘-+7)+3
‘3) y=fx-7)-3

A y=fa=7+3 |

Derive th‘e‘e;quat,ion ofaparabolag n thL focus of (0,4) and the directrix

The functioﬁ] f(x) is graphed onthes of axhes below. On the same set of
axes, graph fix+1)+2. 1 L’Q’\' {

: U(’(

mE

—

\

T
—~

X




¥

. A meteorologist drew the accompanying graph to show the changes in relative
- -humidity during a 24-hour period in New York City. :

-] su ) -
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2 4 B B 10121416 1800 2F 24
Tieve {ours)

What is the range of this set of data?
1) 0<y=<24

2) 0<x<24

@30 Ly <80

4) 30<x<80

(3)

%@‘m EC’ %"325 XA 5 &wﬂﬁt :ﬁ)}%
X)(ZQ*JV\

6x—2y—4z=-8
Solve the system: 3x—-5y+5z=-14

~(o %5@+y—5z=6) \j{g\%, __32(\
g(——SyrSz - (%ty%i‘rlk |

\52 =%

f-B-39 )
’%‘i‘f" AL @é 20t={uY4
gj—%”:"@ F\T




|8 R /3/ 2 i
. Multiply ('Zx + 1) (Sx +4) andw e your result in simplest form.
| 51 SOy 3 al
j - B ' ol
O Bx"x D% T
]
: !
9. Write an equation of the line, i ing ot- slope form, whose slope is 5 and
passes through (-5, 3) e
CZ'\
10. I 1nd the slope of the line that pa: s through the points
) and (20,4).
mra-ﬂ“':;c g
- i”: L
11. 3
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. REVIEW # 2

Question/WORK - ANSWER
1. cX=2y+z=-11 j L“X”q
Solve the systemi 3x+2y—z="17 = M\
b—x+2y+4z=-9 )( \

5z -)0
7--Y

“1-72y-4 =
/,’Z%;%: ;g
-2y =7l
y°3

2. Write, in POINT-SLOPE form, the equation of the line that passes
through points (-1, 2) and (7, -3).

—] ,’] /g

Y2 -2 (»u\\




a2l

the collection of all points equ

le ‘thfe equation of the parabola that is

listant from (4, 1) and y=-3.

{

L2
@X‘X*i

Which equation represents a |
directrix of y=27?

(1) y=x*+3 (z vy
. 1, A
(3 =—x"+3 4 Jy
3) y=gx (,( Yy

\
1

rabola with a focus of (0,4) and a

7ind the axis of symmetry of t
f(x)=-2x*—8x+5.

X:,:\E)’_q_» ¢

2o

: parabola whose equation is

{Z"‘

e

b3
Ty

13

i

VAN

Find the vertex of the parabol
f(x)=-2x>-8x+5.

2 -9

f%+¢@%f

wlhose equation is

('\
.

“%
\_fﬁ)




Find the y-intercept of the parabola whose equation is
F(x)=-2x* —8x+5. 015
8. Graph f(x) = ~/x— 2 + 3, without a calculator (usin
transformations). C \ %\(\-\— 2. \J .P é
3(@ { x e}
: S
A - f"
2 = o=
NNEIEIE 12 B8 10
18
W
2 State the domain of f(x) = ~fx—2 +3,
%27
10. —
State the range of f':?f:' = ~Jx—24 473
Y>3
\J
11. | The table below shows the heights, y of a competitive water skier x T e

seconds after jumping off a ramp. Use your calculator to

write a function that model the height of the water-skier over
time. When is the water-skier 5 feet above the water? How

long is she in the air?

Time (seconds), x 0 .25 .75 1 1.1

Height (feet), y 22 | 225 | 175 | 12 | 9.24

T




 REVIEW # 3

Ques E\n/WORK

ANSWER

(»

The conjugate of 7— 57 is

1) -7-5¢
2) —7+'58
3) 7-51

4)) 7+ 51

1. The relationship between t, a stude s test scores, a d d, the student’s
success in college, is modeled by tt  equation & £ 0.48% 75.2. Based on this
linear regression model, the correl  oti cg efﬁaent could be \ "

.} between-—1and0 ‘C
)
Q 1)/ betweenQand 1 (2‘\
3) equalto-1
4} equalto0
2. Factor: 6¢% +9ab—3b~2a
L . . N ™ S s .
| b ,i;.,. f} ;D\)
3. square, expressing the result in
¥ - "’;;?
R
1/ ) ‘
jm W—mme f\‘w
e ;( ¢ :7- ;n N ”t:’ "’}
i AN
4,

determine the value of n in simple

Cform: 1

BBy M en=0
VT oy

UG
\ \%/L%{"\MQ




L Multiply x+ }’-f by its conjugate, and express the product in simplest form.

Which equation represents the function shown in the accompanying graph?
¥
F 3

1) i) =[x +1
2) f(e)=|x| -1
3) )= |x+1]
4) fx) = |x-1

at various pH leveis.

&
= D 5
33 A
S0 — t
g5 I )
2 / 1
=$ 10 ‘l i
z%’%ﬂ %I i ¥ T T 1 T
i 5 68 7 B 8 10

What is the range of this set of data?

The accompanying graph illustrates the presence of a certain strain of bacteria -

5ey<]o
5,70




x4+ y% —16x + 6y + 53 =07

:M~3)

2) ¢8.3) XZ, ((Q}G—

" )8-3)

Fa%sﬁ) CY ”%\)l‘
(5

What are the coordinates of the ce or of

i

™

§ %

+\{ ‘4l

H
(y

Tz

“:‘:}:

a circle whose equation is

——-—"}
=

10.

1. Solve the system of equations:

-

x =73
Sx+dy = -8

£
o

| B "y
s & 3
T. 7 L=
AR
" | &%
Pt =
P frr
7 -
fas

t/

S

1

MY X
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- REVIEW #4

Question/WORK

ANSWER

1.

In an electrical circuit, the voltage, £ in volts, the current, / in amps, and
the opposition to the flow of current, called impedance, Z in ohms, are
related by the equation £ = IZ. A circuit has a current of (3 + 7) amps and
an impedance of (-2 + f) ohms. Determine the voltage in « + b7 form.

f=T4

A
R A A S s
implify: a/\;'f'ﬂ =y \(;é. _ \"2

1) 52 _2y+1=0 t/, ‘{(!X*) L% L}‘

2) x?-2x-1= 0(2)1 L{Q)(«l}

/| - - v
% -2+ 5= 0&2\\ u{(\ji\gi - = O {g

m) 74 *

. o i £ 3 !
4') x2 I —-5=0 & ﬁ\; é 2”‘ ‘r “'.f)’ ¢«'E’

s

" e ATyl /sx/:%*(n(f?ﬁ‘
( —6x+y+3z=-28 A 2‘] Tﬁ k,;“““{,{ /5X+ /[Z
VL j+l lp =3¢ \“,,_‘i',@w?;-;——;—-g, 2y-g =
-3z =-\1) A - )
’ YJZ% + \1;« PR </ADRE
oK + ; Az =28 /\ q HN?@}’?
R i €1
i) M
4. | Which equation k:as u:agmary roots? bz L\GC U




Thne data téble below shows wate)
ccean.

eniperatures at various depths in an

Write the linear regression e(iua1
to the nearest thousandth. Us@g
(2C), to the nearest integer, atax

= L R S T e
jon & » Y
A% -

4 T kR

S

Water Depth ( - Temperature (y)
{meters) {°C)
50 || 18
75 15
100 12
150 - 7
200 | | 1

%CTH&K4'

in for this set of data, rounding all values
his equation, predict the temperature
EeFF €pth of 255 meters.

f: — ,
6. 2 3 i W;: A -

Factor: ti—w | l ("’Y)_'X (“ X)
f/‘ y f@,;@ "'["J (\‘Xzy\ﬁﬂ
T e

e - l_/; \3‘ ) [f

RS '
Tl .-
7 1‘ If | “"gg‘ ‘,ﬂ’ , N i RN C
(o)) )\ B




ranem
(=it

The graph of g(x) is given below. Graph y=g(-2x) on the same axes.

_ | —OK
i(%\%(\'%%%hm\tjb %

¥ 4

=

8. Write the equation of the line that passes through the points (-4,4) and
(2,-1) in POINT-SLOPE FORM. 5
=yl -5 %,q, ’z;‘(s(*"h
q-2 ~
H- - .5
g Ut \= "% (¢-0)
# 7
9. Which equation has imaginary roots?

1 x?-2x+1=0

2) x2-2x-1=0

ﬁ/ @xz——lx+5=0

4) x2_2x-5=0

10.

How many points of intersection does the system




REVIEW # 5

| /\S§< N
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Ques

(v

on/WORK

ANSWER ~ -

= =1
2520

R

P i

1\2—:00 WG

2) x2_2-0 O - %(3‘ g
:f))x sxe1=0 Y= {y [

4) x?-x-1=0 b . M\(\

. | What |s; thﬂ@ftheﬂs of e eq‘uation"‘za’f2 +3x+8=10; V¥
(-2 \TUEE -3+ [73
PN 4] /D
- N\ , SR
..._2,%@4 PR "7% = :@%:: "{"‘M)
2 \Vhat lsthe@ofthe roots of4}' - Hx =37 /(SO/ ,b iég /;;§>
4><. ,5&/3 -0 -0 NG,
waa AT :; t \]—ﬁ - ﬁé D j\ ‘
T =2 5+ _\_?__;_,_, - .%—:
_w 1 & 1
3. hasefocus is (2,3) and directrix is y=-1.
AT
U
€ ,{ .
4 Factor:U“@ “
o- [o%- ) -y af-! >
L < ‘ , ™
Coa NS N AR Y PN
ot -0 (000 = a0 0 a0 e
- c oY f‘g’ %‘a\ ff"o' _ @ %
5. Which equatlon has imaginary roc it (O\%‘ \\} ('&‘% XB (lﬁ(" Q)LME’% : '{ 4 J

NS \,j/
‘\_ N K ot
{_;; = "‘f} ™




N 'l P v, N .
{t;._.u%%&:‘w@ 5

| Which graph represents g(x) if ghg=<flx)?

{,/;#,
1

7

2
o@ﬁfﬁ?\ (O

1) ! N
13 N
“;Hln'—:::"::”.-::*-4m /:::::::..'\::::;,_x
2) H !

'H::Uzz:”i ' B AR R 3

6. The mid-September statewide average gas prices, in dollars per gallon, (y), for
_the years since 2000, (x), are given in the table below.
Year Since 2008 Price Per Gallon
) ()
1 1.345
2 1408
3 1.537
4 1.88
Write a linear regression equation for this set of data. Using this equation, 2. ?Sb
determine how much more the actual 2005 gas price was than the predicted = —7 »QD
gas price if the actual mid-September gas price for the year 2005 was S2. 956 - /o,_(:g W2
- - '
Y- oe3t v+ .97 & 28
. : e
, g LA } 3 ,ﬂ [‘\1 / -
Gz, 08345 )4 1,257 "/, 76
1
<’
7. The accompanying graph represents the equation y = fix).

Solve and graph your result on a number line: 2x* —5x—3<0

% Nt | RO
K_,,,’z)%& (\éﬂ'%%\ D
(CQX"\'%\F \’“”3\ O
o ! 3

S -2 54

5.3




State the conjugate of 9 \/ﬁ

%1’

Find the center and radius of the

x+y-

>< ZMJ_W

hose equation is

+4y 1=

e
l (




~ REVIEW #6

N

Question/WORK

ANSWER

1.

Factor Completely: 4x” +4x—63 &bc‘b‘262-<_,)l{.

Y ZH BN o3
252X+ =7 7( Z><+0\\

@-—w M 2XADN

Factor Completely: x —y

AN

simplify the expression (x* +1) ~2x°
O( 4l (X 2
X P2\ -2 ‘V + \

Solve 7~—7O

HW\ (& IFO

@mm Ny (ST

=x%—
State the y-intercept of f(x)= 6x+}

l (

Find the sum of the roots of x —6+20S

%; b
Y=t \("" (i - Qg”‘\s%w

!

(9* =

- T




. Bl
BV

7. Firfd the product of.the roogs of x* Gr4250. -

ST

NE 3 L;f:? :;?-)—"“‘““"' = &
8. Evaluate the discriminant ofx = ’?‘2;}:0- . N

pE L;W = UG s L6

9. Solve x> —6x+2 =0 by Complet s the|Square.

A

—_—

_—_

(|

&w}‘\.«i

I'Huch the focus point is (1,1) and directrix is

'5,@ f"*%\;i‘ii\
—% N1

11. Write a sjystem of two equations  tvro variables where one equation is
quadratic and the other is linear : :h that the system has no solution. Explain,
using graphs, algebra, and/or wo i, why the system has no solution.

A Sl
U==0-u) -

AN

( 0 - \"\

Eﬂﬁ(@ Cagy Y




© REVI

2 > F%S

(430) L2 2w /6*2‘«5, A= (LEE'%IL

EW # 7
T Question/WORK ANSWER
* Divide using long division: (x +3x —X— 8) ( ~1
Tiyxa3 -5
X~ | ﬁ@%?)\i"-»x«——%’
& >
A %},{ <
A 2. Explain why (x-1) is or is not a linear factor of x +?:;:ﬁ 8)
ot o Rackee o\
vy m\@g QL (OO U ~ler
3. ,;;W““ri:ce an ecguation of the parabola whose focus is (0,4) and directrix is y=2.
AN
o)
k A
. (LMV“Z\%)X
out +\ 24
15 G- (2] L(q -

Ut )
A




>. Show that x-4 is a factor of the fun  on j!‘(x) =2x’ —5x* ~11x—4. Explain
your answer.
ol
| b % \ A= (5 ¥C
G ” \yfamm(\&af S A
, : C <2 [ 50 *‘ﬁ?

A stadium has 49,000 seats. Seat
and $15 in section C. The number
aumber of seats in sections B and
“rom each sold-out event. How m

el for $25 in Section A, $20 in section B,
I'siats in section A equals the total

'y seats does each section hold?

Suppose the stadium takes in

513052,000
Ar\— 6+ C :L%QQDD
“p= 3+C :

7\

(>4 ueyrcfwo@oo

%ZC'“%Q oCD

2z W@DD‘

75 L0 Tob+H 0

25 A+ 200+ 5CA0F

017500t 2OB T3 1506

A GooeO+54310

—
Y=l 5Ty
Ryl

Find the axis of symmetry of f(x :=Zix?

~

¢

«3/(x+1)5; =(x+1)",fora 1-1¢




CEW#S

Question/WORK ANSWER
. | dx-2y+62z=10
) Solvethesystem':_Lt x+3y+z=16> |
y=z=19 —% )(+ﬁ4)ﬂ*:;\b
jL +ot \0 K\ =l
RS
\_———// | .

A\ \‘r\r@% {q\)

?:/
yous
SN/ EE

x \u\lréz 57

iy =\
(L\\« -9 \
E\{’*‘H 520'}"'\tc\zfﬁ |

State‘the conjugate of 5 —\/7 6 ,‘~ ﬁ




P

Siyzthe system b‘ graphing: ‘

I

x4 5x ( Z D) o et e
3 26%k5x (1 o) (O 2.~2X
¢ " -5 :v1>

10 s
! E
\ B -
\\\ =
N e by i
b 4 =
SRR T @3 A
mw.jé._../“ AECRY M) B8 X/ ‘ﬁix gi’\
ZLnEs RN
N s o
B
'“] ........
b

(7¢+3

Factor completely: 16x* —-81y*

mmmw T2
DCASE

~

) (Rx %q\/':>

the range of y =x” +8x+18.

Identify the axis of symmetry, ve :x, the maximum or minimum value, AND

: “:‘j h(& LVI‘\

E%\g
o Z




| Finthan eqliation in the form y = ax® +bx +c that goes through the points

~ (z;ég\g()’ 1,19),and(':2 \S(BL_‘L :%'bs
ot o+

ti,T;, b+C)-| rﬂ”ﬂ50'§?

L;afvb+C * 10=150+pb

52 2402200

| Ba=iGaxiloty

gt 54:5(?)'b

—=D= 15665 24 = Q-
! b N

a-2b+ e
+ 452 jtmlb \O:,(o
—Zi-2a -0 o="1

]Ci :-?-z,—ﬂ Ot C

g
Show that 2x+ Sis 4 linear factor of 6x +15x 14x 27x+20 Explain
2O T Y

25\ (o 1‘5 — Y -—27 20 Qxﬁyf:f%x?" 14x 2704 70
,‘?;X -\5 o "’ZO \ (Gx ! 1150

T
{9 ._.‘L..} Q\ ——Qgg—k(}i ‘

%12
- !2*& 399
A+

@ |
%5/7)(‘('('/ zo '(X’){T;{j}

Write an equation of the parabola whose VERTEX is (-5,-2) and FOCUS is (-5,-6) O o




REVIEW # 9

Ques

0n/WORK

ANSWER

1. Which of the following functions d
r egative infinity and positive infini

(1) f(x)=x"~4x"+x

-esses as the input values approach hoth
D

2) g(x)=-2x"—4x> +9 CT) oNQ O
(3) A(x)=x"—4x> +2x+8
64) r(x) =—x" +9x° + x> +8x +!
2. Which of the following could ident | the transformation of a parabola wit a

vertex of (-4, -6) to parabola with

(1) f()+5
(2) 5/(x)
(3) f(x+5)

QD)

ertex of (1, -6)?

.erome uses the polynomial identi

generate khe Pythagorean triple 9
generate the values for the three

(ot D
J

-y ) +(2xy) (x +y ) to
iR 41r ‘What values of x and y did he use to
les ofia right triangle?

- =0 ";’;'u =) X—\-j Hi

. b % o v:‘ E \"
i YR e s
=82 X 5

4. Simplify 8;° +6z —51 —32 —7i- m

%@fr ) tn g C. VIR
)_ﬂu 150437 1]
5. Determine the points of intersect 1 for [x* + y* =1 andy=x+17?




| }50|vi£ (x—5) <1-9

X-5 =T 3L
X =513

A boy standing on the top of an apartment building in Albany throws a water
bailoon up vertically. The height, h (in feet), of the water balloon is given by

the equation /() = —161" + 64t +192, where t is the time (in seconds) after

he threw the-water balloon. What is the value of t when the balloon hits the
ground? Explain and show how you arrived at your answer.

0 =\ Pou4+1aL -
D=l (+-tt-12)

Divide (x° +7x> +14x+3) by (x+2). Is (x+2) afactor of
(x* +7x> +14x +3) ? Explain why or why not.

=R




Factorcompletely xt =13x% +3¢

(= A) (K=
L) ) (o

; D)\

10.

x+2y—-z=
Solve the system: 2x+y+z=

’(x+2y+?¥

X ALY 2/

\Zx«ﬁ Z:=0
ANEDY =3

\

L
!

(x—ﬂj ==

Fol-X-2N-2

AR

-5

=0

NIRRT
(6

o VT

)
3
<




11.

| Graph f(x)=x3——2x—4.

{

v

Based on the graph, what is the real solution to the equation x* —2x—4=07?
-1 —
Verify algebraically that it is a zero of f(x).

LY P-2(D-Y 2§80

Write f(x) asaproductofa IirEir fac\tor and a quadratic factor.
£

23V Q ¢~
3348

@@ YLl )(x

Find the two complex number zeros of f(x).

N e

200

(= ...2 :t \’22-""1 03(23 - ’Yi\FZ; -




REVIEW # 10

\ Que 0n/WORK | ANSWER
VEF10 =(E_7)
\ 410z Y a

1 Solve:

f‘\

2. V/hich equation has non-real s1 1tions?

(1) 2x*+4x-12=0
¥ 2x* +3x =4x+12
< (3)) 252 +4x+12=0
4) 2x*+4x=0

3. Solve: 2x* —x+1=0

e

4., F:nd a polynomial function of d g;rm{B jn standard form which has
the corresponding table of valu ::

X [y
o 4 |18

e o4 ;}g P‘ i : ™ 3 0

U= W90 0
b 110
N 0|6
‘1] 8

2] 0

-3 [-24

-4 [-70




| Use the graph of f(x)=x’—6x> +11x—6 to rewrite f(x) as a product

of linear factors.

. 4 R L .
- P [
v >

_____ v b

1=
Write —4+/—48 é”si\ﬁ‘:‘,éast form.

/L\ - U L@ = “\%M@w

b

N\

7 ooy
Write #° i\%i—mplest radical form. W - ﬁﬁb ) \ﬂ ﬁ
”~

x—4 1 i
N‘fﬁ%"mﬁ“‘f‘m O




’2$+Qj“
é} ezu.,,,?

: - |
% Solve] 4x _ 8+ 12 SR
x-3 -7 x-3
4% gk%%w}
7
Y 3( % K- 2 Lf t
ﬂfd“*
; e
Vﬂf;
10. The Vertéx of a parabola, f(x) 1as doordinates (-3,5). Determine
| the coordinates of the vertex ¢ the parabola defined by f(x+3).
/ e - ’ 6@ 3
‘ (9 ﬁ) «
~ i
+
11. 3 x=2y4 z:
Solve the system: ~ 2x+y- :=4
~3x+2 -2z

\.,M B
¢Q%g

z/:—@j A=

W;ﬁjihi%f

A<%w w&g, “

L SN
zf:.,—

et
-




REVIEW # 11

%

Question/WORK

ANSWER

The polynomial p(x)=2x’ +13x* +17x —12 has (x + 4) as a factor.

(a) Factor the polynomial into three linear terms.

—U\z % \"\ -\
\4/ 2 - |2
2 5 '5 O

D RZ +5,>§:3«—-w

@7(x+ 3 ) <A )

{b) Describe the steps you would use to sketch the graph of the function
(without a calculator). identify all mtercepts and describe the end behavior of

t&i\;\fg (ookS: X ™ /24 3"‘#

&j"ﬁ% (O, -11\)
co LT

Given: f(x)=x*—4x.

(a) Write an expression that defines f(x+5).

Clers) = (tx > - éﬁf‘?}x o
X+ -
X ‘HD A ANK k@

(b) Describe the transform at maps the graph of f(x) tof(x+5).

et S




|

\ State the period of the graph of f 1) =-3cos (Zx + —’25) -1.

: : ;o 'ET
()20 20N
@Qf:, 2 ,:W,m_ﬂ /( h

’

4. J(x)=:

Given the two functions ) ,simplify 2 f(1-x)-3g(x)
glx)=: x

7
) . ¢
Paiial N LA Y A
/ Vi " \ w0 e { o
, ; .

y
1, . w
— e
FEal )
=y & o, ¥ ) 1
f:,,/ X7 P {“ % (B u K‘
1
L e o

5. Factor completely: 162x* —144x +352
Sy R

(kﬂl )( Z,\ : /:’f.}{ wot A
2/ L; 4 P g ST ‘“;, \

\f X (1%‘ ~ LT O TS t. »/5

X
il
~{Z
N
N

(X3

N NI
2 YUx Tz )97y

. i

6. Write a quadratlc equation in wh yine/sum of the roots is -3 and product of
the roots is 5. g — 3

e L I o i
e T e *::O
] ¥ Gbost e
Ml .




/Simﬁify ——T_—— and write your answer with a fraction exponent.
m

8. Write an equation that represents a parabola with a focus of (0,4) and directrix
of y=2?
9.

}alve: n=log,,3

s

el

10.

7
If 4/3/(x+1)° =(x+1)",for x>—1 and a is constant, what is the value of

a?




REVIEW # 12

Que: icn,

/WORK

ANSWER

For the function f(x)=

(x

_3:

+1,find f7'(x).

Factor: (2a D*+8

)

L%
2o +loax ]

4 o~ +€

LY

State the sum and product of

S—— .
7

e roots of 3x* —5x+6= 0

i oL

- E M ,\‘[7 91 e

&

LA S

v — = [ ——
/Z’:/' A//;V - V\) - \E d) -—' - '{ﬁl 4."
A1 S | -
- D © o
- (Hint: Ifwe factor by
4, 4 12 3 2 grouping with 4 terms
FACTOR COMPLETELY k\ 4\\’C/V+ 8]f 32k +12k° —48 bfwabqut we .ﬁactor
" by “chunking” with 6 ...
- N ? ¢ break it into 3 groups of
/'?_ ; ’; 1 TN s g"z IR f ¥ . 5}; ) 2. See structure in
;‘\ i RS { K A !f AN A ‘ expressions ... this is on
\ b ’ ' the newly released
. - sample test for Algebra
VA0 B RV N h 2. You need to be
[ {4 v o £ - L«g } willing & able to think
N ' . / outside of the box!)




.| Rewrite the expression (4x**+ 5x)2— 5 (4x2 + Sx) —6 as a product of

four linear factors. - \>< V4 ‘

(Again - see the structure in expressions — can you see this as x*—5x~6 72 Ho
does that factor?) 3

.....

The minimum point on the graph of the equation y = fix) is (~1,-3). What
is the minimum point on the graph of the equation y = f(x) + 5?

(D i LED
2) (-1,-8)

3) (49_3)

4‘) (—67 —3)

. @e equation of a parabola given the focus of (0,4) and the directrix

WErY




Write an equation of the line, in ;ir_xL:-_s_]iope form, whose slope is 5 and
passes through (-5, 3).

I‘actor: ﬁﬂ'g +Fax—3x o B - .

{. N i P ey ® e

&a + i} N fux e 4,

[P o }

; Ll o . .
\“——--,., el P

7 oA

,
Fory o,
i a TSy s
FL
i

g .

- ] s . 5,
AN RN B B P S
;’ ;} o gk {i _.' Y £ }

N,

¢

2 6x—-2y—4z- -8

Solve the systemyf 3x—5y+5z= - 1--’%)
/«ﬁrx+y—52=6 Y

. i B I
7 b L Ry Yo 3 L
ok R
7 e
AN Q‘rf A
R AR
¢
, -
v

1




REVIEW # 13

Question/WORK ANSWER

1. Write a quadratic equation in which the roots are 2+i and 2—1.

(=(2+ ) (x- (2-¢))
/(}(/2/ C)(@( 2} () ke
(X’Z:) 2 & For )

X«é/)(%‘/-l/ - Xz/é/wj
_

y Graph the function f(x) = 3 cos(2x) + 1 between 0 and 2.

-

3, S5z
/ State the EXACT value of sec?”

4, Consider the parabola with focus point (1, 1) and directrix the horizontal line
y = —3. Find the equation of the parabola.

()~




A ot uQ‘OQS - SOAP

lactorcompletely (2n-1y \r

G-

w"“\w §

R mw

/"‘“‘«

(20'0(20 5)

C(Z’\ ‘\—3(?0’31'33
Un? E\O+\+(ma6+¢i>

§,, xéf: O ‘-%

10520+ 7))
21

\Vrite an equation of the line, in p¢ 1t-slope form, that goes through (5, 2) and
2,5) —— Y
( H y&::‘ - r—"*% ff \?{ﬂmwx’g\g
— W Doe LN AN ,,,_M{f
e
The graph of the polynomial functi 1 f(x) = x3 + 4x2 + 6x + 4 is shown
below. ¥
Jf
a. Basedon the appearance Itle /
graph, what does the real nlution to /
the equation + 7/
x3+4x?2 +6x+4=0¢z jreartobe? 7
/
==/ AREE
b. Jiju does not trust the acc 'acy of the graph. Prove to her
algebraically that your an ierisin facta zeroof y = f(x)j
T2

(D24
—Bx -

¢. Find the two co/f%plex nurn

b«

)+ =O

+o(-2)+4 2O
=10 \/

osofx*+4x* +6x+4=0




REVIEW # 14

—
r

Question/WORK

ANSWER

(o)

——

- )
D

s

Write an equation of the parabola with a focus of (0, 4) and a directrix of y=2.

L

L

If the terminal side of angle &, in standard position, passes through point
(-4,3), what is the exact numerical value of sin&?

/

Use the properties of rational exponents to determine the value of y in the
equation:

3/.8
X

(+*)

=xY,x>1

W | =




4\Mmp+bm4&)6 2yi)4-

real number

Loyi~

/2_t4 F

'454+EU£1’

|_(;.‘7fo..

&5wzi*gjbr

it

llm

|

" ‘f

smplest a+bi form, whereyls a ‘|

/[%@’" 2 -
%ﬁ +<§'j‘

5. | Usean approprlate procedure to sho

LA

4&5

4

=1
Iz 1

2 %

Ei..f& ’&)

CDr.

o e

v

that

f(x)=2x>-5x*—11x—4. Explain u-ar

| LE
8\\@ ‘W\Q‘Q S

wa\ rmjw“\a,‘\f

1)

x—4 is a factor of the function
\SWer.

vder

K1)

D(Qﬁ%%

f

ﬁ»é g

o~ Ty

6. 4lve algebraically for all values of x:

Jo e




The ocean tides near Carter Beach follow a repeating pattern over time, with the amount of
time between each low and high tide remaining relatively constant. On a certain day, low tide
occurred at 8:30 a.m. and high tide occurred at 3:00 p.m. At high tide, the water level was

12 inches above the average local sea level; at low tide it was 12 inches below the average local

sea level. Assume that high tide and low tide are the maximum and minimum water levels each
day, respectively.

Write a cosine function of the form f'(¢f) = 4 cos(Bt), where 4 and Bare real numbers, that models the

water level, £(9), in inches above or below the average Carter Beach sea level, as-a function of the time
measured in thours since 8:30 a.m.

Graph one cycle of this function.

People who fish in Carter Beach know that a certain species of fish is most plentiful when the water level
is increasing. Explain whether you would recommend fishing for this species at 7:30 p.m. or 10:30 p.m.
using evidence from the given context.




REVIEW # 15

Ques ian/WORK ANSWER

1.

Solve for all values of x: . 3% +25 - = —3-

x+7 x

2. 6 17X +10x+2

Divide:

2x+3

3. Use your answer to #2 to determin 'f 2x/+3 is a linear factor of

6x° +17x* +10x+2
4. \Vrite a quadratic equation whose otsare 2+ \/§ .




“| Solve: ——;—x2=—6x+20

Factor completely: n* —4n* +8n° —32n+12n° —48

y=-2x+1
Solve the system algebraically: 5
y==-2x"+3x+1




Algebraically prove that the differe
i1tegers is an odd integer.

e of

the squares of any two consecutive

Given that x >0, which expressi . i: equivalent to 54/xy + 25\/; ?

@ 5(xy) +25x7
1
(b) 25x%(\[y +5)

1
(© \/;(25y5 + 5)

A1
(d) 5x? (y2+5J

10.

Solve: n=1log,,3




REVIEW # 16

Question/WORK ANSWER

1. f f(x)=2x,find fof(-23)

2

e )

2. Graph g(x) = —4cos3x




“wo versions of a standardized tes
version. The statistics for the Apir
standard deviation of 24. The stat
of 510 and a standard deviation of
distributed.

oMUY

(a) Joanne took the Aprilversion a
the probability, to the nearest ten:
random from the April version sco

(‘\%ﬁm&f‘dg S

(b) Maria took the May version. |
w——
<he scored as well as Joanne?

7= X =50
=

iare: given, an April version and a May
arsion show a mean score of 480 and a

icy far the May version show a mean score

1). Assume the scores are normally

| s:ored in the interval 510-540. What'is
lonisandth, that a test paper selected at
d in the same interval?

1. 510-4§0 -1 75
U

L

[
oS
I"." c\ \\. -

L ) ’m

whatlinterval must Maria score to claim

K—SID=2
W =53

oy |2 Y — 510 = DO
y =S5O

ﬁ'\

.lmphfy’ ==
’C'ngl;x 8

v

SState the midline of A(x)=-2co:

%;

dx—£)+1




. Solve the system: »—2(6)5 —3y-z= 472

T-12x +0y 2

“3x+2y—2z=

—4x+5y+2z=

=2 ‘k’Z\ﬂ *Z

-
=2 — o=
Vg __j%/ =
A =4¢
. N
LrONAEE TF s xéd%%%:@ oy (%
KS.H5::(>< ) (% + ) ”x*»
: Factic;%%j;ﬂ (Q Xwg ( gc ,a;i%-‘ 3{*535} + 5 '%
312 3 ((4){*33 (@X +1\ Z)é*%oﬂ
10. State the vertex of the parabola whose directrix is y=5 and focus is (4, -1). |
‘\ o




REVIEW # 17
Que: icn/WORK ANSWER
1. ,
h(x)=2-x3+—8~x2‘ !é-x—l-Z
Given: 9 9 3
k(x)= —|0.7x' +5
State the solutions to the equatic /1 x) = k(x), rounded to the nearest
hundredth.
2. Find the exact roots of x* +10x—: = (I by completing the square.
3. ,
Find the difference when ix3 _3 + gx is subtracted from 2x° +—?‘-x2 —%




Prove that the equation shown below is an identity for all values for which the
functions are defined:
cscd-sin’ @-cotd =cosd

Factor completely: ¥ +3x2+2x+6

What is the amplitude of the graph represented by f(x) = "‘3005% ?

Solve algebraically for x: v 2x+1+4=8




What is the period of the graph re

‘esented by f(x) = _3005'% ?

2. “he legs of a right triangle are repi :ented by x+J§ and x—ﬁ. Find the
exact length of the hypotenuse of 2 right triangle.

10. it f(x)=2x*~3x+4,thenwhat f(x}+3) equal to?

11. What is the sum of the roots of the :uition —3x> +6x—-2=07?




REVIEW # 18

Question/WORK

ANSWER

Which angle does not terminate in Quadrant IV when drawn on a
unit circle in standard position?

(@om (2) -50° (3) 280° (4) 1030°

A survey is to be conducted in a small upstate village to determine
whether or not local residents should fund construction of a
skateboard park by raising taxes. Which segment of the population
would provide the most unbiased responses?

(Da Mocal skateboard enthusiasts

(2) W’ciz ns living on fixed incomes
3)a Mosed to any increase in taxes
@ every tenth person 18 years of age or older walking down Main

VES )
Write the expressy X 5 in simplest form.

Xy

43K 3, Y4
KN > \S/‘ @ -

5

B0 ERIC




- 1 ) :
AxXpress ——— as a single raction in simplest form.
x—1 2-2x :

(R
“t VD

QX=
X L= (A ﬂ

- e

T
ol O"X,) z \ Pelas 94 \
Kwﬂwwwf I J

V/hat is the product of the roots ¢ hi: equation —3x* +6x—-2=07?

2: —_— ’::?-i‘- ZZ/\
O

- —rrn
vaRio, o TN
I T
e
——

distributed with a mean of 50 anc S‘I:anfdard deviation of 5. What is the
expected number of students whc 1acl scores greater than 607

Norecntt
The scores of_lp#tudents ona andardized test were normally

50 @9 S O[

A

Ui
-
/

N
2‘« M N o) “?:}
5 @51
Find the value of the discriminant I’i,@l) = 3x

-




